
Assembly Instructions

HERITAGE HIGH  
FAN BACK ROCKER

330-893-4212 • www.wildridge.com
LCC-115

© 2017

Required Tools:
- 1/2” Wrench or Socket
- �Mallet/Non Marring 

Hammer  
(Do not use Metal Headed 
Hammer)

Hardware:
- (4) 5/16” x 5” Bolts
- (6) 5/16”x3 1/2” Bolts
- (10) 5/16” Flange Nuts

Parts:
A = (1) Backrest
B = (1) Seat
C = �(1) Right Arm/Leg 

Assembly
D = �(1) Left Arm/Leg 

Assembly

Step 2
Once rocker is together, using a 1/2” wrench or socket, go back 
and tighten all connecting points. Your rocker is now complete.

Thank you for purchasing from Wildridge.

D

A

B

C

Step 1 
On a level surface, place the backrest (A) and the seat (B) on its 
side, butting them up against each other.  Lay the right arm/leg 
assembly (C) onto the backrest and seat and fasten them together. 
For the front leg use (2) 5/16” x 3 1/2” bolts and (2) 5/16” flange 
nuts. For the back leg use (2) 5/16” x 5” bolts & (2) 5/16” flange nuts, 
and for the armrest use  (1) 5/16” x 3 1/2” bolt & (1) 5/16” flange 
nut. DO NOT tighten flange nuts at this time. Repeat with the 
left arm/leg assembly (D) on the other side.

 (1) 5/16” x 3 1/2” Bolt & (1) 
5/16” Flange Nut

 (2) 5/16” x 5” 
Bolts & (2) 5/16” 

Flange Nuts

 (2) 5/16” x 3 1/2” 
Bolt & (2) 5/16” 

Flange Nuts

C

B

A


